
��������
��������������������������������

�� ��� ��� ����� ������ �������
�����������������������

�� �
��� �������� �
����� ���� ���
��������� ��� ���� 	��
� ����
�������������� �
����� ���
����������� ��� �
�� �������������
���������������� ���������� ��� � �
��
������������

�� ��� ���� ����	� ����� �
���� ��� �����
	��
������������������������������
��������

���������������������

���
������������������������������

��������	����������������������
���
��������������


!

����������������������
��
�	
�
����
	�����������
��������	�������������
��	�����

��������
����������������������������������
�
������	
���	���������
��
	�����
������������	��

�������
������������	
�
�
��	����������

 ­����� � ��������� ����
�������������	
��������������
��	
����
������	�	����������
������������

�����������	����������­����

�������������� ­��������������­������� ����­�­�


���­�­�� ��� ­� �­�����­���� ��������­��� � �� � ��� �������� ��� � �­����� � �� ���������  ­�� ����� ���­���� ��� � �� ��������
­�����­�����������­�­�����������­���� ���­�������������


���­�­�� ��� ­� �����­����� ����� � ��� ������� � ��������� �� � ��� ­������� ��������­���� ��� ������� ������ �­����� ­��� �­�����
���������


���­�­�� ���������� ����­����� ������ ­����� �������  ��������� ���� ���������� ­������ �������� ��� ������� ��������
���� �������­��­���­��� ����������������� ����� ����


 ­����� � ���������
��������������������

MADE IN GREAT BRITAIN

�
��������������������������������������������������������
��� ����� ���­���­����­������������ ­���­���� ������������������� ���­�����������������
�
��	 �������­�����­��������­�����­������������ ­���� ����� ��������­�� ­������������������������ ��
������������������������­���

���������� �������������������­���­���­����­������­��­�����­�������
�
������������� ­�������� ���������������� ��������������������� ���������������­������� �


���������������
	 ���� �������­������ ����� �����������­���� ����� ���­�������������������������������
�������� ­��� ������������­���������­��������������­�����­���������­���­���­�����­�����


�������� ���­������������­�����������������������������������������������
����������� �����������
�­�������� ���­�������������
��� ���­���� ������������ ������­������ ­��� ��������­����­���������
��� � ������������ �
�
�� ����­������� ����������­�� � ���­�������­�����­� ������� �����­���
� ��� ���­����
������������ � ­�� � �� ������ ��� ­�� ��­��� ����� ­����� � �� ������������ ������� ������ ��� ­�����
��������


�������������
�����������������­������������������ ­�������

����­����­��������������� ­����­��

��	�������­����������������������������������������


������
������ �­����­���­���­����­���� ��������­�����­���������������­��������­� �������������
����� � ��
���­�������� �­���������������������������­����������������� ��������­������­�������
�	­���������
� �� ����� �­�� ­���� ������ ������� ���������� ���� ������� ���� ��� ­�� ��������� ��������� ����
�
��������­������ � ���� ���������� �­����� ��� ­������� ���� �­�� ���  �����
� ��� ��� ���������� � ­�� � ��
�����������������������­������� ��­��������������������������������­������� ����­���� ��������­��
��� �­�������������������­����������
�

���������
�����������­�������������� ­�����������­���������������������������­������� �������­������­� ���
������������­���­���­���� ����������� � �� ������� �������������­�����­��� ����­��������� ��
�� ��� ���
�������������­���­���� ��­����������­�­����
�

�������­������������������������­��������­��������­�����������������­�­���������­������­��­���­�
�­������������­������������������­�����������
������������­������������������������­��­������������­������������������­�����������
���� �­����������­���� �­����� ������ �� ���� ��������� �����­���� ­��� �������� ­� �������­����� ­���
�­���������������­�����


Water proof

Preservative

���������������������������
	 ���� �������­������ ����� �����������­���� ����� ���­�������������������������������
�������� ­��� ������������­���������­��������������­�����­���������­���­���­�����­�����
�

	�� ���������� ­������	�� 
��
�� ��� ­�� ���	��� �� ������	
��� ­�­�� ����� ­��� ���������� ���
���������������� �­�� ���������­�­����� ����������� ­��������­�� �����­� ���� �����������������­��
�����


������������������� ­��� ��������������� ����­� �������������������
��
	�������

�
����������
�
	
���
�
����
�����
����
����������
�
��������������
������������
��
�������
���������
���������
	���
��

	 �����­�������������­���­��������­����­������� �� �� ������­��­��������­�����­������� ���­������
� ���������������������������������������������������­�����­�������������������������������­�����
� ��������������� ����������


1!

�������������
�����
����������������
�������	�������
�������

�������������
 �­���­�������
���� �­����­���
�����­���
�������������­���


�������� ��
�������­���
���������­�����
­����������
��������


������­���
������������
� ������


2!

3!50kg ���������
����



��������
	�������­��­���­����������­����­��� ­����������­���­�����
�������������������������������­���
����������� ���­����­�������­�������­����­� ��������­����­��­�������� ������ ���­������������­����
� ��� ­�������� ����������­�������­���������������������� ���


����­��­������������������ ����­��­��­����­�������������������� ��­���­�������­� �����­������ ���
����� 
� ������­�������� �­��� � �� ��������� �������� ���­������� � �� ����� ���  ­���� ��� ­��­����
����­��������­������­���
�

 ­����� � ��������� ����
�������������	
��������������
��	
����
������	�	����������
������������

��������������


­����

��­��
�­�������������

�����

�������������

� �������­�������������������

�­�����­����


­����­�

������������

�­�����������

��­�����������������������

�­����­���

������

��������������	������������

	������������������­��

��������������­��������­�����

�������	­����������������­������

���­������������������

�­�������� ����­����������

����������

�����­�����­�������­��������������������������������������������������������

������­��­���������������������������������������������

� ����� ���­��������­�������������­������������­��� ­�����������­�­�������­��������


� �������� ­���� ����������������������������


� �������� ­���­���� ���������������������������
���������������������������
�����
	�������������������������������
������	�������������
����	��

����­���� ����������­������� ������������������������������� ���� ����­��


����­���� ������������­����������­�������� ����­�����������­������


������­������������­���­��­���������������­��������� �������­������������
������������������­��­����


������������������­����������­�­��������������������	����

������ ��������­��­�­��������������­������­�������­���������������


�­���­����������������������������������������������������������������������������
�����

�����������������������������������������
���������������������������������� �������
������������	
�
�
��	���������­

�����

������������������

��� ���� ­��� ������� � ­�� ����� �­��� ����­�­����� ����� ���
����­����� ���­��� ����­��� ��� ��­� ���� ��������� ����­�� ���
��������� ������� ��
�

������­�������������­�������������������������������������
�����������­��������������� ���� ����­����


���
����
 ����������
�����­�­������������
��
���� ����­����

��������
��

���������������
 ����������
������������
��
���


���� ���� ����� ����� ������� ��� ������� ������­����� � ­�¡���
 ���� ��� � ����� ��������­��­����� ­��� �­�����­����
�������


ANY QUESTIONS?
Scan the QR code to contact 
us via our customer portal.

	������ ¢� 
�� � ��������� ¢� ���­�����
�������¢��������������¢������­�����

x2
���� ���������� � ����� ��� �������� ���
­���­�������­�����

�����������	�
�
����������������


2mm Drill bit

�����­������­������������������������
������ ­��� ������  ����� ­��� ������� ­���
������ �­���­��������������


���� �­������ ­��������� ��������� �����­�
�­�����­����� ��� � ������������������
�����������­����������


���
��� ������� ����	
�
� ��������� �	����� ���
������� �������� ����������
������ ��­�� ���

���������
���
�
������

�
���
���������	������	
��
��� ��� ����
���� ��	�� ����� ���� �	��������� ����
��

����
�� 	
� ���� �	�� 
	
������ �������

�����������������

��������
���������������

�����������
��

�
��	�

� �����

��­�����
������� ��

 �­�

��­�����
����­��
����� 

��
���
�������
 �����




�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
����������������
�������������	
��������������
��	
����
������	�	����������
���������������������������������������������������

Some steps within this set of instructions come with an added video guide for your 
convenience. These can be accessed via the QR code and used to aid you in constructing that 
step. See below for how to use.

You can also �nd all the videos on our youtube channel:
 https://www.youtube.com/@merciagardenproducts8716/videos 

ACCESSING VIDEO GUIDES...

1.  Find the QR code within the instruction step...

2. Open camera app...

3. Scan QR code...

4. Watch the video...

On your personal smart device (phone, tablet etc), open your camera app or QR code scanner 
app.

To scan the QR code, hold the camera over the QR code so that it can be seen on the screen. 
Once the QR code has been registered, follow the prompts on your device to open the video. 
(This will vary depending on your device.)
Please note: Ensure to use the back camera of your smart device as this will scan the QR code more 
accurately.  

The video guide will now be displayed on your smart device. 

Parts Needed-  No. QTY 1 
     No. QTY 1 
     No. QTY 1

Step.....

Within the instruction step, there will be an icon in the top right that has a QR code in. This is 
where the video can be accessed from. 
Please note: not every step has a video guide. 

Disclaimer: The garden building constructed in the video guides may be 
constructed di�erently to your building. Please ensure to read your 
instructions carefully to avoid error. 

ACCESSING VIDEO GUIDES...



�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
������������

Playhouse Options:
Take a look at the di�erent playhouse options below. 
These refer to the instruction lea�ets required to build each option.

4x4 Playhouse With Tower
SI-002-001-0043

4x4 Playhouse With Tower & Slide
SI-002-001-0040

4x4 Playhouse With Tower, Slide & Swing
SI-002-001-0100

Model Build Instructions Required

02DTSHAX0404BDH1W-V2-PEFC (Playhouse)
02DTTWR0605-V1-PEFC (Tower)

02DTSHAX0404BDH1W-V2-PEFC (Playhouse)
02DTTWRS0605-V1-PEFC (Tower With Slide)
02PATINCSWA-V1-PEFC (Swing Set)

02DTSHAX0404BDH1W-V2-PEFC (Playhouse)
02DTTWRS0605-V1-PEFC (Tower With Slide)

4x4 Playhouse With Tower

4x4 Playhouse With Tower & Slide

4x4 Playhouse With Tower, Slide & Swing



�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
������������

Overall Dimensions:
Width = 1870mm 
Depth = 1437mm 
Height = 618mm

Base Dimensions: 
Width = 1870mm 
Depth = 1437mm 

* Measurements do not include slide & ladder *

9

10

11

12

Framing - 44x58x1870mm QTY 2
F4458-1870mm  

3

4

5

6

7

8

Leg Brace  - 44x58x400mm QTY 8
F4458-G-440mm ANGLED

Leg Post - 44x58x523mm QTY 4
F4458-523mm

End View

End View

End View

End View

End View

End View

End View

End View

End View

End View

End View

End View

Framing - 44x58x1044mm QTY 1
F4458-1044mm

Framing - 44x58x1080mm QTY 3
F4458-1080mm

Ladder Step - 27x58x476mm QTY 2
PRO2758-476mm

Ladder Side Right - 650mm QTY 1
PRO2795-650mm

Ladder Side Left - 476mm QTY 1
PRO2795-476mm

Shiplap Board - 12x92x1112mm QTY 2
WBRT92-1112mm

Shiplap Board - 12x92x1200mm QTY 1
WBRT92-1200mm

21

Outer Floor QTY 1
AI-S11STISF1168X758-V1

Slide QTY 1
PI-10-0005

50kg 50kg 

Building Content:

02DTTWR0605-V1-PEFC

Floor Framing - 28x28x1057mm QTY 2
FS2828-1057mm

Floor Framing - 28x28x1162mm QTY 2
FS2828-1162mm

13

14

Tip: Labelling your parts, using a pencil and masking tape, 
may help you to identify them easier when you need them. NO.1 FLOOR PANEL



�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
������������

30mm Screw  x 10

50mm Screw  x 28

Screw Pack

100mm Screw x 28

40mm Screw x 24 

Missing parts?

?
Scan the QR code to visit our 
customer portal where you can 
quickly raise any missing or 
damaged parts and get a 
replacement sent out ASAP. 

Pre Assembly

Before assembling remove the transportation blocks from the bottom of each panel.

Take care removing the blocks as to not damage the panels. Tap with a �at headed 
screwdriver and hammer.

Dispose of the blocks once removed.

Step 1
Parts needed -            &
 
Place the Framing (No. 3) and Framing 
(No. 4) as shown, ensuring the ends are 
�ush. 

Fix the framing together by screwing 
through the side of the framing to the 
end of the framing below using 
1x100mm screw per end, as shown. 

2x100mm screws

Bunk Rail

1! 2!3 4

Before assembly, please make sure you have a suitable 
base ready to install your building onto.

Pre drill 
holes

100mm 
screw

4
3

3



�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
������������

Step 2
Parts needed -             & 
 
Place the Framing (No. 4) and 
Framing (No. 5) inside the frame. 

Make sure No. 5 is positioned in 
the centre and use it as a guide for 
positioning No. 4 in the middle. 

Fix together as shown with 
1x100mm screw per end.

6x100mm screws

694mm

694mm

1! 2!4 5 Pre drill 
holes

100mm 
screw 4

4

5

Step 3 
Parts needed - 
 
Lift the assembled frame up and 
position the leg posts (No. 6) 
underneath as shown.

Fix the leg posts to the frame by 
screwing through the framing 
into the leg post, using 1x100mm 
screw per leg post. 

4x100mm screws

1! 2!6
Pre drill 

holes

100mm 
screw

6

6

6

6

7

Step 4 
Parts needed - 

Fix the Leg Braces (No. 7) to either 
side of each leg post by screwing 
through the framing into the leg 
brace, and up through the leg post 
into the leg brace, using 2x100mm 
screws per brace. 

Ensure the framing is level so that 
the corners and legs are square 
and �ush.

16x100mm screws

1! 2!7 Pre drill 
holes

100mm 
screw

1

Step 5 
Parts needed - 
 
Place the Outer Floor (No. 1) on top 
of the framing and make sure that 
the edge of the �oor is �ush with 
the end of the platform.

Fix into position by screwing 
through the �oor into the framing 
below, using 10x40mm screws.

10x40mm screws

1! 2!

50kg 

1
Pre drill 

holes

40mm 
screw



�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
������������

Step 6
Parts needed - Refer to playhouse              
 
Take out the solid OSB �oor sheet 
that is supplied with the playhouse.

Place the �oor sheet on top of the 
framing platform and secure into 
position using the 10x30mm screws.

10x30mm screws

30mm 
screw

1! 2!

50kg 

Pre drill 
holes

Step 7 
Parts needed -             &
         
Place the Floor Framing (No.  8 & 9) 
on top of the �oor sheet and locate  
around the edge as shown, ensuring 
each piece is �ush to the edge of the 
�oor sheet.

Fix in place using 3x50mm screws per 
frame. 

12x50mm screws

**Ensure to check the rigidity of 
the parts and tighten and adjust 
where necessary.

8 9

50mm 
screw

1! 2!

50kg 

Pre drill 
holes

9

9 8

8

Step 8 

The playhouse can now be assembled 
on top of the framing.

Follow the instructions provided with 
the playhouse to do this.

*Disregard the �oor joists as these are not 
needed when �tting to the platform. 

Secure the playhouse to the framing 
with 8x50mm screws. 

8x50mm screws

50mm 
screw

1! 2!

50kg 

Pre drill 
holes



�������
������������	
�
�
��	����������
�����������������������������������������
�����������������������������������

����
�������������	
��������������
��	
����
������	�	����������
������������

Step 9 
Parts needed -            & 
    
Slot the Shiplap Boards (No. 10 & 11)  
into the bottom of the cladding 
around the sides.

Fix them into position by screwing 
through the face of the board into 
the framing below using 4x40mm 
screws per board. 

12x40mm screws

10 11

40mm 
screw

10 11

1! 2!

50kg 

Pre drill 
holes

10

11

11

10

11

Step 10 
Parts needed -             &              &
 
Slot the two Ladder Steps (No. 14) 
between the Ladder Side Left (No. 12) 
and the Ladder Side Right (No. 13). 

Fix with 2x50mm screws per end, as 
shown. 

8x50mm screws

**Check for any post manufacture 
splits in the wood. 

If present, do not use and contact the 
customer service team for replacement 
parts.**

12 13 14

50mm 
screw

1! 2!Pre drill 
holes

14

12

13



����
�������������	
��������������
��	
����
������	�	����������
������������

�������
������������	
�
�
��	���������� 

2

Step 11
Parts needed - 

Place the assembled ladder 
against the platform as shown. Fix 
into position using 2x100mm 
screws. Ensure the top of the 
ladder is �ush with the top of 
the platform.

Place the Slide (No. 2) into 
position as shown. Fix into place 
with 2x40mm screws. 

The position of the ladder and 
slide can be reversed to create an 
alternative set up if desired.

*Do not place either the ladder 
or slide on the same side that 
the door opens as this creates a 
potential safety hazard. *

2x 40mm screws
2x100mm screws

1! 2!

50kg4!

2
Pre drill 

holes

100mm 
screw

40mm 
screw

a

b

a

b

b

2

2

Step 13

Once constructed, apply a preserving 
treatment and a waterproo�ng treatment 
to your garden building as soon as 
possible. This will help to protect your 
building and prevent decay. 

See page 11 for a full guide and instructions. 

Once fully treated, score around the 
protective covers on the glazing and 
carefully peel the coverings back. 

Apply treatment. Score and peel.

��������������������
Want to share your experience with us? 
Leave us a review on Feefo, TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



������������������������������������� ����
�������������	
��������������
��	
����
������	�	����������
������������

���­�����­��������­�����­����­����������������­�������������������­��������������������
��������­��������������������� ���­���­������¡������������������������������������������� ��
����������������

�­���­�������������­�������­��������­���� ������¡����­�������� ����­���
�

����������­�����­���� ��������������� ���­�
�� ���­���� ���������­��������� ­����������
������­���������������­����������������­�����������������­��������������­�����­��� ���


����� ­��� �­��� ��� � �� ��������¡�� ����� ��� � �­���� ��� ����� ������� ��� �������� �­���� ­���
��­�� �������������
�����������­�����­����������������­���������������� �� ���������� ���
������­�����­��� ��������� ­���
�����������������������������������­����
��� ­��������
���� �������� �­��� ��� ��� ��� ����� ����� �­�������������� ­��� ����� ���� ��� �� ��­����� � ���� �
£�����­�����­���
������� ������������ ������������­���
�

�����­����­�����­����­���������­������� �����­������������������ �­����� �������­����­�����
�­������­������ ����������­���������������������������­��������� ��������
�

�­��� ����� � �� ��������� �����­���� � �� � ���� ��� � �� ����­��� ­��­�� ������­���� ­������
�­���­����­��������������­����­��������� ����


�����������������������������

�������­�������������� ­�¡����������� ������­�
��� ��������­�����­�������� ������������������­��������������� ������������­���­�­����­�����������­���������������
� ��������������������­����­���
� ­��������­� ����­�� ­�����­�­��������������� ����­�������­���­���­�­�������������­�������������
���������������������������­���������¡���� ��������������­������¡��� ­������� ����������­��
�­���­������­��������­��������������­����������� ����������
����­�����������­�������������� ����������������­��­������������������­������������­����� ������� �����������­���������� ­��������
£���­������� ����������­���������������� ������


�������������	������
�����������­��������­��������­�����������������­�­���������­������­��­���­��­������������­������������������­�����������
���

	������������	������
�����������­��­������������­������������������­�����������
���������
���
	�����������������
���������������������­����­�����������­��������­�����­����­���������������­�����


��������������������

�����������
��������������

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

	�­� ��� ������������ ������� ��� ���­�� ����� �­����� ��������� ��� ��� ��� �­��� ���
����­��­����


	�­���­�������������������������������������­����������­������­��­��


����­��� � �� ������ ��� �­������ ����� ­��� ������� ��� ���������������� ��� � �� ������
����� ��������������­�����������


� ����� ­� ���� �­�� ��� ���­�� ����� �­����� ��������
� ��� ���¡��� ���­����� �­� ��� � ­��
���� �����­��������­�����­��������­�
�

�������������­���­�������­� �­���� ������������������������­������­���������������­�
�­�������­����������¡���­�������������������������������
��­�������� �����­���������
­������­�������­���������������­��������������������­���


�������
������������	
�
�
��	�����������



�������
������������	
�
�
��	����������­

����������������������� ����
�������������	
��������������
��	
����
������	�	����������
������������

���������

� ����­������� ��������������������������������������� ����­������������������­����� ­��­���
�������­������ �������� ­������� ����������
�� ����­��­�����­�������­������� ­�������������
�����­�� ����­���­�­���� ��������������­�����������������­����­��­�����­���


������

��������� �����������­���������������� ��������������������������������­�����­��� ����
���� ��� �
� ������­��­���­�����������������­��������������
����������������­�������������������� ����������
��­�����­��� ����


����

� �������������������­����������­�������������­�­���������­����­�����������
���������������­���
���� ���������­������­������������­�
�

����
���������


���­������­��������­�������­���­����������­��������������������������������������� ���
����
���­���­�£������������� �� ���������������­������­������� ��������­��������������
­������������������


���


�������­�����¤����������������­�����������­������� �� ������­���������­���­���


�
���
�������


��� ���­������� ���� ����­��� �������­���������­��� ��� ����­��� ������������� �� ����
����� ����
�­�������������­����� ����������­��������������������������
�������� ��������­���
������­����� � ­����� ���­������ ��� ­����� ���­������ ­��� �����­������ ��� �������� �­������
�������������������­����­�����


��
�

��� ��­��������­���­�������� � ������������� �������������­�������­� �� ��� ����������������
��­��������­����� ��������� ­���­��­������­������� ����������


������

�������������������������­�������������� ���������������������­������ �� ��­���­����� ��
�����������­�����������­����������������������������­��������
��������­������­�����������
��������������­������������­��������­������­����­������������­����
�

����������������������������� �������������������­���­�����­������������������� ����������­����
­��� ������� ������­���
� ��­����� ������ ­��� �������� ����� �����­���� �­��  ���� ����­�� � ��
�­���­�������������������


������������

�������������­������������­��� ���������­��������������������������������­���
����­������� ��
���������� ������ � �� ������� ������� ����� ­��� �������
� � ���� ���� ­��­�� ��� �­��� ­���
��������­���� ���­��������������­�����������������������������
�� ����� ���������­������
����� �������� ���� ������ ��� ��� ������� ��� � ­�� ��­����� ������� ­��� ������� � ���� ��� ���­��
������­������������­� �� �������


1

2

3

4

5

6

7

8

9

�����������������	
�����������
��
������������������� ­��� ������������� �����­����­�����­����­����­����������­��� ������������
����­� ���­����­�������­��­�������­��������­����������� ����­�����­���


��� ����­������������������������������ ������­������ ����� �����������


��� �����������������������������������������������������������������­��� �­���­�������


��� ���� �����


������­��������������­�������­�����­������� �� ���­���­��������������������
�

��� ����­����������­����������������­���­�� ���


�����­������������������¥�� ����� ����������­���� ­����­��������


�������������¡��������������������������������������������������������¢���



�������
������������	
�
�
��	�����������

������������£����������������� ����
�������������	
��������������
��	
����
������	�	����������
������������

�����������­��­���­���­����­������­�����­����������� ������������

� ����­���­����­��������� ������������������ ������������������������­��������������
����� ­������­������������������­���­������������������
�� ����������������������� ��
������������ �­���� �������������������­�����������������­�� ������������� �� ������
������� ��� � �� ����������� ��� ��� �­���­���� ���­������ ��� �����­�����
� ��� � ��
��������������������� ����­����­�������
���������­���������������­������������ ��
��­������� ������������������������������� ����������������������������­��
��

�����������������������������­�����­� ����������������������������� ����������������
 ����� ������­����­�­���
������­������ ���������­���������������� ������� �­��­�����
 ���
���������­����­¦���������­������������������ �������­�������­����������������� ��
����������������������������­���­�������������� ������­����� �


�­���­������������������� ������������� ��������­����­���������������­���������
���­�� �����­����­��������������������� ���������­���������������������­����� ���
����� ������������
� �������­����� �­�� ����� ��� � �� ������� ­��� �� ��� ������ �������
��� ���������­�������������
������¦�� ��������������������������­����������­���������
�

������������ ���������������������������������������­������ ���������������������
������������������� ����� ����� ��� ������ ��� ­����� � �� ���� � ­��� ��� ������­��
�	��­����
­������­�­���������������������­��� ������ ���������­��������������­�� � ��������­����
�����­���� ������������������������ ����������
���������������������������­�����������
��� ������������������������������������­��­�������������­�����������������­������
���������������­������� �� ������¦������­��������������­��������­�­���������­�����
��������


�������� ��­���� ­��� ������ �� ���� �­�� ������� ��­��� ������� ­��� ��­���� ��� �����
�������������� ������­��­���­��� ����������� �����­����­������
�� ������������­�����
� ���������������������­�������������� �������� ���������� ���� ����� � ���� ����­�����
�­����������������­����������­����������������
��

�­��������­���­����������������������­����­��­���­��
����������­�������������­�������������
��������
��� ������������ ���­������­�������­������������
����������­���� ���������­�� ­�������������­��������
���������
����� �������­������ ���­���­�����­� ����
���� �����������������������������­������
��­���������������������������


��������� ­���� �����­����������� �������­���
­����­���­���������­�����������������­���������
���� �������������������­��­�����
������������
��
��

�����������������������������������­������� �������­�������������� ���������������� ��
��������� ­��� �������� � �� ����� ����� ����������
�	�� ���������� ��� ��� ����������
�����������­������­���������­������� �­������§����­�­��¡


� ���­���� ������������ ������­������ ­��� ��������­����­������������� ������������
�
�
�� ����­������� ����������­��� ���­�������­�����­�������������­����­��������������
�­������������������������­� �� ����������


	��­��������������� ­��� ������������ ���­�������������� ���­�����������������
­������ ������������������������������­�������������
�

�

����������������
��������	����������	���������2

������������������� ����������¦�­������� ���������������������­�����������������
­�����­�����������­�����­�����­���­�����­������­������­�����­��� �����­������� ��
��������


	 ������������� ���� � �����­�������­�����������­���������������������­� � �­����
������������������ ��������­�������­�­������� ����������


����
����������
��
	���������
������������	����������	���������1

�¤�����
������������

�����������­�������������� ­������� ����­������ ����������������������­������� ������
�­��� � ���­� ���������������­���­���­���� ����������� � �� ������� �������������­�����
­�������­�����������
�� �������������������­���­���� ��­����������­�­����


�������­������������������������­��������­��������­�����������������­�­���������­���
���­�
­���­��­������������­������������������­�����������

��������� ���­���� ���������� �� �������� ­� �­��������� ���­������ ��� �������� �­����
�������

���� �­����������­���� �­����� ������ �� ���� ��������� �����­���� ­��� �������� ­�
�������­�����­����­���������������­�����


	�� ­���� ���������� ������ ­� �������� ��­�­��� ��� � �� ������� ­��� �������� ��� � ��
��������­�������­�����������­¦���­��������­������­�����������������­��� ���������
�

����������������������� ��������� ������­���­����­�������­�������������­����������


3

4 �����������������
�����������
����
����
��

����������­��������������� ­�����������������­����­���­���������� ��­���­���­���������
������� ����������­��������������������������­��
����������������������� ��������������
����������­��������������­������ �����­��� � �� �������������­������ � ­������ �������� ��
���������������������­��������­���­������¡�����������­������­�����­����������
�� ­���
��������� �������­������­��­������������¨

����������������­��­��������� ������ �������������­� �� �� �� �����­������� ��������������
������������­���­������������¦�������­����­� ��
�

����������������������

����­�������
�������������������­����­�� ��
�����������������­��­���
���
������������
��
��



�������
������������	
�
�
��	�����������

����������������������� ����
�������������	
��������������
��	
����
������	�	����������
������������

���������­��­��������������­��������������� �­�����­���­��­�������­����­����­�­�����
�­���­���������������

� ����­��­������������������������������­��������������������������������������
���������


� ����­��­����������������������­������� ������������������

�
��� ����������� ­������������������������������­�­��������­����­�

�
��� �����������­�������������� ��������­������ ­�������� ����������

�
�������­�­��� ­��������­�����������­��­�����������������

�
� � �� ���������  ­�� ���� ����� �­���­����� ­��� �­���� ���� ��� ­�����­���� ��� ����
­����������­����­���­������¡�����������­�����
�
�
� � � �� ���������  ­�� ���� ����� ���­���� ­���­���� ��� ­�� ���� � �� �­���­������¡��
���������­����������­�������������������­������������­���­���� �����­��

�
� � � �� ���������  ­�� ���� ����� ��������� ������� ��� ����­����� ­�� ���� � �� ���������
������������

�
� � � �� ���������  ­�� ���� ����� �������� ��� ­� ����­���� ��¤��� ����� ��­��� ������ ������
�����������­���­��������­�������������������­������­����

©
� � � �� ��������� ��� ���  ­�� ����� ��­������� � �� ����� �������� ��� ­��� �������������
��­��������������­���������������
��� �� ��­��­�����������������������­���� ��������

ª
��� ��������������� ­������������������������������­�­�����­���������­�������������
��� ­���������������������­���­����

��
��������������­���£������ ­��������������­������������­����������� �������������
�� ����­������ ����­�­��
�
��
������������� ­���������������������������������� ���������������­�����­��������
­�������������������­�����


���	��
�	���£
���������1 2 ����������	�������

�����­��­�������������������­������­��­����������­�­��������­����������­�����­�����­�­�����
���­������� ­��� ��� ��­��� ��� ­��� ��������� ���­���� ��������
� � ��� ��­�­����� ������� ������
�������­�­�������������­����������­���­����������­��­���
�
����­���­���� ����­�­������� ����������������������­������­�����­�������� ����­���­������¡��
���������­������� ��� ��� ��� �­��� ���­� ��� ������������ ��� ­�������� ­��� ­���­����
� ���­¦��

� �����­�­�������������������������������­���������������������� ���������������������
����


� �����­�­�����������������������­������� ������������������

�
�� ����������� ­������������������������������­�­��������­����­�

�
��� �����������­�������������� ��������­������ ­�������� ����������

�
�������­�­�������­�����������­��­�����������������

�
��� ����������� ­������������­���­�����­����­�����������­�����­�����������­����������
­����­���­������¡�����������­�����
�
�
� � � �� ���������  ­�� ���� ����� ���­���� ­���­���� ��� ­�� ���� � �� �­���­������¡��
���������­����������­�������������������­������������­���­���� �����­��

�
��� ����������� ­����������������������������������­�����­������� �����������������������

�
��� ����������� ­����������������������­�����­������¤����������­��������������������������­��
�­��������­�������������������­������­����

©
��� ����������������� ­���������­������� ����������­������������������­��������������­�����
����������
��� �� ��­��­�����������������������­���� ��������

ª
��� ��������������� ­������������������������������­�­����­���������­���������������� ­��
�������������������­���­����

��
��������������­���£������ ­��������������­������������­����������� ��������������� ���
�­������ ����­�­��
�
��
� � ���� �������  ­�� ����� ����� �������� ��� �������� ��� ���� ����������� ­�����­����� ���
­�������������������­�����


�����������
��

�
��	�

�����������������

��������
���������������

� �����


